
P3. May ride a roller coaster 

To ride a roller coaster, a rider has to be at least 120-cm tall. Write a 

program to ask a potential rider for his/her height (in cm) and if the 

potential rider can ride, let him/her know, otherwise apologize him/her. 

Example 1: 

================================================== 

Your height (cm): 130 

Welcome on board! 

================================================== 

Example 2: 

================================================== 

Your height (cm): 110 

Sorry. You have to be at least 120 cm to ride. 

================================================== 

 


